DE CUONG TIENG ANH 12

TEST 1 

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

Question 1: A. events 
B. sport 
C. Asian 

D. wrestling

 Question 2: A. respect 
B.  estimate
C. economy 

D. integration    

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

Question 3: A. finish
B. survive
C. enact

D. expand
Question 4: A. enterprise
B. integration 
C. agricultural 

D. entertain 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 5: Drying food by means of solar energy is an ancient process ________ wherever climatic conditions make it possible.

A. is applied
B. are applying
C. applied
D. applying

Question 6: He finds physics.............. than other science subjects.

A. far more difficult 
B. many more difficult  C. too much more difficult  D. more much difficult 

Question 7: ................ the dance, Jerry said good-bye to his girlfriend .
A. Before left 
B. Before he leaves
C. Before leaving 
D. Before he will leave 

Question 8: The Governments of ASEAN have paid special attention ___________ trade.

A. to 
B. on 
C. for 
D. with

Question 9: Nobody phoned while I was out, _________ ?

A. wasn’t I

B. was I
C. did they
D. didn’t they

Question 10: In ___________ 22nd SEA Games, Vietnam won 158___________ gold medals.

A. Ø / the 
B. the / Ø 
C. a / the 
D. the / the

Question 11: One of ASEAN's objectives is to help people think about peace and ___________ and do something about it.

A. origin 
B. justice 
C. statistics 
D. record

Question 12: Could you just ___________ the luggage while I get the tickets ?

A. look out 
B. look after 
C. look at 
D. look up 

Question 13: The girls remember ___________ to Suoi Tien Water Park when they were ten years old.
A.  to have taken  
B.  being taken 
C.  having taken 
D.  to be taken  

Question 14: A survey was 
_ to study the effects of smoking on young adults.
A. commented
B. filled
C. conducted
D. carried

Question 15: The meeting will begin ______ .

A. when all the participants were arriving   
B. by the time all the participants arrived

C. as soon as all the participants arrive       
D. after all the participants had arrived

Question 16: I’m really ___________ the weather today; I have a terrible cold.
A.  affecting by              
B.  having of     
C.  feeling under            D.  making out  

Question 17: We’d like this rubbish ……… away as soon as possible.

A. to clear
B. to have been cleared
C. to have cleared
D. to be cleared

Question 18: Unions have carried out protests against the US ___________ in the Iraq war .

A. paticipate
B. paticipation 
C.paticipants
D. paticipating 
Question 19: ASEAN has planned equitable economic development and reduced poverty and_________  disparities in the year 2020. 


A. socio-politic 
B. socio-cultural 
C. socio-linguistic  
D socio-economic
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

 Question 20: Mary is talking to her brother about his favorite color.
- Mary: “Why do you like red color?”  -  Mary’s brother: “____________”
A. You make me feel more confident
B. It’s color of love and passion.  

C. You didn’t do anything for me.
D. It’s a good idea, thank you. 

Question 21: Nam and Huy are talking about the 30th SEA Games.
 Nam: "Vietnam U22 football team had an excellent performance and won gold medal because they had prepared carefully for the 30th SEA Games." 

- Huy: "_______________. It ended our strong desire to win gold medal for 60 years."

A.  You can make it.
   
B.  I can't agree with you more.
C.  You are welcome.                
D.  Not at all.   
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

Question 22: There have been significant changes in women's lives since the women's liberation movement.

A. uncontrolled 
B. economic 
C. unimportant 
D. natural

Question 23: On the spur of the moment, she decided to enter the race that she had come to watch. 
A.  After careful thought  
                               
B.  At the earliest possible moment 

C.  For only a short time 
                               
D.  Without previous thought 

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined word in each of the following questions. 

Question 24: Farmers used to account for 80% of the Vietnamese population, but now it has decreased

A. make up 
B. come out 
C. go ahead 
D. take over 

Question 25: The ASEAN Free Trade Area (AFTA) is an agreement by the member nations of ASEAN concerning local manufacturing in all ASEAN countries.

A. progressing 
B. producing 
C. combining 
D. aiming

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

Question 26: It was careless of you to leave the windows open last night. 
A.  You mustn’t have left the windows open last night.


B.  You needn’t have left the windows open last night.

C.  You might have left the windows open last night.

D.  You shouldn't have left the windows open last night.

Question 27: It’s a long time since we last went to the cinema.

A. We weren’t to the cinema a long time ago.
B. We don’t go to the cinema as we used to.

C. We haven’t been to the cinema for a long time.
D. We wish we went to the cinema now.

Question 28: “Why don’t you ask the Council for help?” my neighbor said.
A.  My neighbor advised me to ask the Council for help.

B.  My neighbor told me not to ask the Council for help.

C.  My neighbor recommended asking the Council for help.

D.  My neighbor wants to know why I don’t ask the Council for help.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 

Question 29: Her father used to be a distinguishable professor at the university. Many students worshipped him.

A. used to 

B. distinguishable 

C. at 


D. worshipped
Question 30: I think artificial intelligence is going to replace jobs in the future. 

A. I think           
B. artificial intelligence C. is going to replace      D. in the future
Question 31: There are three students talking about his first impression of the university life.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

Question 32: We survived that accident because we were wearing our seat belts.

A. But for our seat belts, we would have survived that accident.

B. Had we not been wearing our seat belts, we wouldn't have survived that accident.

C. Without our seat belts, we could have survived that accident.

D. If we weren't wearing our seat belts, we couldn't have survived that accident.

Question 33: Ronaldo scored the decisive goal. Right after that, the referee blew his whistle to stop the game.

A. No sooner had Ronaldo scored the decisive goal when the referee blew his whistle to stop the game.

B. Hardly Ronaldo had scored the decisive goal when the referee blew his whistle to stop the game.

C. No sooner had Ronaldo scored the decisive goal than the referee blew his whistle to stop the game.

D. Hardly had Ronaldo scored the decisive goal than the referee blew his whistle to stop the game.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks. 


If women choose to pursue a career once they have children, they often miss out on a close (34)________with their children. Helen Jamieson is a mother of three who has given (35)________working to look after her children full-time. She strongly believes that women are pressurized to do too much, driving themselves to the absolute limit. In her own case, after six years of paid employment, Helen finally decided to call it a day. She says she initially found it hard being at home, though she never misses the job itself. She admits (36)________ if she had had a brilliant career to begin with, she might feel differently now. Financially, she is no worse off (37) ________ before, as the cost of childcare and commuting exceeded her actual income. (38) ________ the government starts to give other tax incentives to working parents, she says she will not return to the workplace until her children are grown up. 

Question 34: A. friendship

B. relationship
C. scholarship
D. membership

Question 35: A. out

B. in
C. to
D. up

Question 36: A. for which   
B. that
C. which
D. whom


Question 37: A. as

B. so
C. than
D. then

Question 38: A. Unless

B. If
C. Provided
D. Even if


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions. 


The International Committee of the Red Cross (also called “ICRC” for short) is an organization that helps people around the world. The roots of the ICRC go back to 1859, when a Swiss businessman named Henry Dunant watched a battle while traveling in Italy. After the battle ended, Mr. Dunant was shocked to see the wounded and dying soldiers left on the battlefield. Almost no one could help the dying soldiers. The suffering was terrible and tragic. Mr. Dunant tried to organize some assistance. He asked the local people to care for the wounded and dying soldiers.

After he returned home to Switzerland, Mr. Dunant wrote to the leaders of Europe. He told them what he had seen in Italy. He urged them to create an organization that could help the wounded in times of war. Mr. Dunant also formed a committee of friends, doctors, and lawyers. They organized a conference in October, 1863. Governments from around Europe sent their representatives to the conference. By the end of it, they all agreed to help provide for better care to those wounded in wars.  People who would help the wounded would also be protected. They would wear a white armband with a red cross to clearly show that they were neutral.


In 1864, Mr. Dunant and his committee held another conference. This time, representatives of governments outside of Europe came too. They signed an agreement that listed 10 rules (called “articles”). This guaranteed that all wounded soldiers would be treated with respect and dignity, even in times of war. This list of articles later became known as The Geneva Convention. Eventually, Mr. Dunant’s organization became known as The International Committee of the Red Cross. It still exists today and it has helped millions of people around the world.

Question 39. According to the article, why was Henry Dunant shocked after watching a battle? 
A. because the soldiers did not want to fight
B. because he thought Italy was a peaceful place

C. because the soldiers tried to fight the local people
D. because no one would help the wounded soldiers 

Question 40. The word “it” in paragraph 2 refers to _______.
A. Europe
B. a representative
C. a conference
D. a government 

Question 41. According to the article, why did people wear a white armband with a red cross? 
A. to show they were not enemy soldiers
B. to show that they were wounded

C. to show that they wanted peace
D. to show that they followed the rules 

Question 42. The word “guaranteed” in paragraph 3 could best be replaced with ______.

A.  proved

B. represented
C. prepared
D. promised

Question 43. What is this passage mainly about?

A. The Red Cross and its activities.
B. The rules of the Red Cross

C. The foundation of the Red Cross
D. The conferences of the Red Cross in times of war

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50. 

Until recently, most American entrepreneurs were men. Discrimination against women in business, the demands of caring for families, and lack of business training had kept the number of women entrepreneurs small. Now, however, businesses owned by women account for more than  $40 billion in annual revenues, and this figure is likely to continue rising throughout the 1990s. As Carolyn Doppelt Gray, an official of the Small Business Administration, has noted, “The 1970s was the decade of women entering management, and the 1980s turned out to be the decade of the woman entrepreneur”.  What are some of the factors behind this trend? For one thing, as more women earn advanced degrees in business and enter the corporate world, they are finding obstacles. Women are still excluded from most executive suites. Charlotte Taylor, a management consultant, had noted, “In the 1970s women believed if they got an MBA and worked hard they could become chairman of the board. Now they've found out that isn't going to happen, so they go out on their own”. 

       
In the past, most women entrepreneurs worked in “women's” fields: cosmetics  and clothing, for example. But this is changing. Consider ASK Computer Systems, a $22-million-a-year computer software business. It was founded in 1973 by Sandra Kurtzig, who was then a housewife with degrees in math and engineering. When Kurtzig founded the business, her first product was software that let weekly newspapers keep tabs on their newspaper carriers-and her office was a bedroom at home, with a shoebox under the bed to hold the company's cash. After she succeeded with the newspaper software system, she hired several bright computer-science graduates to develop additional programs. When these were marketed and sold, ASK began to grow. It now has 200 employees, and Sandra Kurtzig owns $66.9 million of stock. 

Of course, many women who start their own businesses fail, just as men often do. They still face hurdles in the business world, especially problems in raising money; the banking and finance world is still dominated by men, and old attitudes die hard. Most businesses owned by women are still quite small. But the situation is changing; there are likely to be many more Sandra Kurtzigs in the years ahead.

Question 44: What is the main idea of this passage?

A. Women today are better educated than in the past, making them more attractive to the business world.

B. The computer is especially lucrative for women today.

C. Women are better at small business than men are.

D. Women today are opening more business of their own.

Question 45: The word “that” refers to _________. 

A. a woman becomes chairman of the board.       
B. Women working hard

C. Women achieving advanced degrees                    
D. Women believing that business is a place for them.

Question 46: According to the passage, Charlotte Taylor believes that women in 1970s _________ .

A. were unrealistic about their opportunities in business management.

B. were still more interested in education than business opportunities

C. had fewer obstacles in business than they do today.

D. were unable to work hard enough to success in business.

Question 47: The author mentions the “ shoesbox under the bed” in order to _________ .

A. Show the frugality of women in business


B. show the resourcefulness of Sandra Kurtzig

C. Point out that initially the financial resources of Sandra Kurtzig’s business were limited

D. suggest that the company needed to expand
Question 48: The word “excluded” is closest meaning to _________ .

A. not permitted in     B. often invited to   C. decorators of                  D. charged admission to 

Question 49: All of the following were mentioned in the passage as detriments to women in the business world EXCEPT _________ .

A. Women were required to stay at home with their families.


B. Women lacked ability to work in business.                        

C. Women faced discrimination in business.





D. Women were not trained in business.

Question 50: The word “hurdles” can be best replaced by __________ .

A. fences     
  B.obstacles   
   C. questions      
    D. small groups 

_______THE END_______

TEST 2
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. 

Question 1: A. initiate
B. penalty

C. optimistic

D. habitat


Question 2: A. panda

B. enact

C. swallow

D. cap

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions. 

Question 3: A. appeal

B. struggle

C. eject

D. defend

Question 4: A. podium
B. advocate

C. tsunami

D. currency

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

Question 5: The Fansipan Mountain, __________as "The Roof of Indochina", is the highest mountain in Hoang Lien Son range.

A. known
     

B. was known
     
C. knowing
     
D. is known

Question 6: I lost the match because I was playing very badly. It was even________ than the last game.

A. badly


B. more badly

C. worse

D. worst

Question 7: You'll definitely believe in what he said________.

A. when you see it yourself
     


B. when you saw it yourself

C. when you was seeing it yourself
     

D. when you will see it yourself

Question 8: She is dedicated ____________ advancing women's rights and equality in society.

A. about


B. at


C. to


D. in

Question 9: Teenagers like to follow the latest trends in fashion,________?

A. doesn't he
     

B. does it

C. don't they
     
D. did they

Question 10: John decided to join_________ army and become a soldier so that he could fight for the country.

A. Ø (no article)
     
B. a

     
C. an
     

D. the

Question 11: According to the________ of the contract, tenants must give six months’ notice if they intend to leave.

 A. laws
     

B. details
     
C. rules
     
D. terms

Question 12: Luckily, they successfully _______ the fire and saved all of the children.

A. took out


B. put out

C. took off

D. put off
Question 13: Remember _________ the upcoming ASEAN summit, where leaders will discuss strategies for regional economic growth and collaboration.

A. attend


B. attending

C. to attend

D. to attending

Question 14: The population of pandas is slowly increasing, but they're not out of the _________ yet when it comes to the threat of extinction.

A. plants


B. bamboos

C. forests

D. woods

Question 15: The activists ___________for equality when the legislation was passed.

A. were marching

B. marched 

C. were marched 
D. march

Question 16: The athlete ___________ a world record, leaving his competitors in the dust.

A. had



B. set


C. made

D. created
Question 17: A goal ___________ by the home team player in the final minutes of the match

A. scores


B. was scored

C. was scoring

D. has scored

Question 18: She delivers an ________ speech that serves as a catalyst for change in societal perceptions of women's roles.

A. inspiring


B. inspire 

C. inspiringly

D. inspired

Question 19: The committee will lay down new __________ for the competition next week.

A. precedents


B. guidelines

C. rules 

D. themes

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges.

 Question 20: Peter is in a restaurant. 

- Waiter: "Would you like to order now?"  - Peter: "___________. I'm hungry now."

 A. No, a table for five
     

B. Yes, not now

 C. It is delicious
     


D. Yes, I would like a beef salad

Question 21: . Nam and Nga are talking about women at workplace.

- Nam: "I think women can now manage their family life and career very well." 

- Nga: “__________. Some women are excellent at everything they do."

 A. Oh come on! That is nonsense
     
B. I totally disagree

 C. I am not so sure
     


D. I completely agree

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

Question 22: The school will undergo extensive renovation to meet the increasing demands of its students.

A. improvement
 B. closeness
     C. similarity
D. damage
Question 23: Ben's dreams of a university education went by the board when his father died and he was forced to earn a living.

A. got prolonged
     
B. became possible 


C. got rejected
     

D. turned into a nightmare

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined word in each of the following questions. 

Question 24: During the epidemic, schools and businesses were closed to prevent the spread of the disease.

A. outbreak


B. pandemic

C. contagion


D. wave

Question 25: She advocates for animal rights, often speaking at events to raise awareness about the importance of ethical treatment of animals.

A. denounces


B. neglects

C. champions


D. abandons

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 

Question 26: The last time I updated my Facebook status was 6 months ago.
A. I started updating my Facebook status 6 months ago.

B. I have 6 months to update my Facebook status.

C. I haven’t updated my Facebook status for 6 months.

D. I have updated my Facebook status for 6 months.

Question 27: Tom said: "I have already had breakfast, so I can work for long hours. "
A. Tom was asked to work for long hours
B. Tom agreed to work for long hours
C. Tom was required to work for long hours
D. Tom refused to work for long hours
Question 28: I am pretty sure Dan is at home because the lights are on.

A. Dan needn't be at home because the lights are on.

B. Dan must be at home because the lights are on.

C. Dan may be at home because the lights are on.

D. Dan can't be at home because the lights are on.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions. 

Question 29: At the moment, the multinational corporation is in the process of upgrading their departments.

     A. their
     
B. multinational

     C. is
     D. process

Question 30: When someone gets preferable treatment, they are treated much better than other people a therefore often have more advantageous opportunities.

     A. advantageous
     B. better

     C. preferable
     D. therefore

- preferable (adj): thích hợp hơn

- preferential (adj): có tính ưu tiên

Sửa: preferable → preferential  

Tạm dịch: Khi ai đó nhận sự đối xử ưu tiên hơn, họ được đối xử tốt hơn nhiều so với những người khác và do đó thường có những cơ hội có lợi thế hơn. 

Question 31: Years ago, mothers often stayed at home and have greater control of children than fathers did.

     A. mothers
     B. at
     C. than
     D. have
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions. 

Question 32: Unfortunately, the leading actor is ill. He can't appear on stage tonight.

     A. If the leading actor weren't ill, he could appear on stage tonight.

     B. Provided the leading actor is ill, he can appear on stage that night.

     C. If the leading actor were ill, he could appear on stage tonight.

     D. If the leading actor hadn't been ill, he could have appeared on stage tonight.

Question 33: Peter told us about his plan to study abroad. He did it on his arrival at the party.

     A. Hardly had Peter informed us about his plan to study abroad when he arrived at the party.

     B. No sooner had Peter arrived at the party than he told us about his plan to study abroad.

     C. Only after his plan to study abroad did Peter inform us of his arrival at the party.

     D. Not until Peter told us that he would study abroad did he arrive at the party.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38. 

The Association of Southeast Asian Nations (ASEAN) remains a vital force for economic integration, peace, and (34)___________in Southeast Asia today. The ASEAN region has grown so (35)___________ in recent years, becoming a significant player on the global stage. With ten member states, ASEAN promotes mutual respect and cooperation, aiming to create a unified market that enhances trade and investment opportunities. (36)___________ facing challenges like political tensions and environmental issues, ASEAN continues to work towards regional harmony and development. Its (37)___________ is also recognized on the global stage, (38)___________ it engages in strategic dialogues with major powers, underscoring its role in maintaining regional security. As ASEAN moves forward, its efforts in fostering economic growth and ensuring a peaceful coexistence among its members are more important than ever, showcasing a resilient and adaptive approach to overcoming regional and global challenges.

Question 34: A. diversity
B. technology

C. stability 

D. innovation

Question 35: A. much
B. many

C. some

D. few

Question 36: A. Despite
B. Because of

C. Although

D. However

Question 37: A. significant
B. significance

C. significative
D. significantly

Question 38: A. which
B. who


C. that


D. where
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43. 

The crisis facing endangered species is a critical environmental challenge, intensified by human actions like deforestation, overfishing, and the wildlife trade. These activities have led to a steep decline in many species, highlighting the urgent need for conservation measures. Efforts to safeguard these animals include habitat conservation, legal protection against poaching, and breeding programs aimed at increasing population numbers.

Awareness and education play a significant role in conservation success, making the public aware of the importance of biodiversity and how they can contribute to preservation efforts. Despite the uphill battle, there are success stories of species brought back from the edge of extinction, proving that concerted conservation efforts can yield positive outcomes.

Climate change adds another layer of complexity, affecting habitats and food sources. The fight to save endangered species requires a global effort, combining the resources and commitment of governments, non-profits, and the community. It's a testament to the interconnectedness of our planet, underscoring the fact that protecting endangered species is essential for maintaining the balance of our global ecosystem.

Question 39: What is the best title for the passage?

A. The Impact of Climate Change on Global Warming

B. The Urgent Need for Endangered Species Conservation 

C. Successful Stories of Animal Breeding Programs

D. The Role of Education in Environmental Protection
Question 40: Which of the following is NOT cited as a direct action for conserving endangered species in the passage?

A. Implementing legal protections against poaching

B. Conducting breeding programs

C. Reducing global carbon emissions

D. Conserving natural habitats

Question 41: The word " they” in paragraph 2 refers to ________?

A. Awareness and education

B. the public

C. roles

D. biodiversity
Question 42: The word  "concerted" in paragraph 2 is closest in meaning to _________. 

A. Musical collaboration

B. Jointly arranged or carried out 

C. Performed in a hurry

D. Conservation focused on concerts
Question 43: What can be inferred about the impact of human activities on endangered species from the passage?

A. They have a negligible effect on the number of endangered species.

B. They significantly contribute to the decline of many species. 

C. They help improve the habitats of endangered species.

D. They are solely focused on breeding programs for conservation.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50. 

In contemporary society, the role of women has undergone significant transformations, moving towards greater equality and representation across various sectors. Women are now leaders in areas traditionally dominated by men, such as politics, science, and business, showcasing their capabilities and challenging long-standing stereotypes. This shift has not only contributed to economic growth but has also led to more inclusive and balanced decision-making processes. Education plays a pivotal role in this change, with more girls having access to schooling and higher education than ever before, leading to a more educated and empowered female population.

Despite these advancements, challenges remain, including wage gaps, underrepresentation in senior positions, and societal expectations that dictate traditional roles. Activism and policy changes have been instrumental in addressing these issues, pushing for laws that promote gender equality and protect women's rights. The impact of such movements is evident in the increased awareness and dialogue surrounding women's contributions to society. However, achieving full equality requires continuous effort from all members of society to dismantle barriers and foster an environment where everyone, regardless of gender, has equal opportunities to succeed.

Question 44: What is the best title for the passage?

A. The Evolution of Technology in Society



B. The History of Education Reform

C. The Changing Role of Women in Society 

D. The Impact of Economic Growth on Gender Equality

Question 45: How are women challenging stereotypes according to the passage?

A. By focusing solely on traditional roles

B. By leading in traditionally male-dominated areas 

C. By avoiding leadership positions

D. By reducing their participation in education
Question 46: The word " pivotal" in paragraph 1 is closest in meaning to _________. 

A. Crucial 


B. Insignificant
C. Temporary

D. Unrelated
Question 47: The word " these advancements" in paragraph 2 refers to _________. 

A. Challenges women face



B. Transformations in women's roles 

C. Societal expectations



D. Policy changes
Question 48: The word  "underrepresentation" in paragraph 2 is closest in meaning to _________. 

A. Having more opportunities than others

B. Overcoming societal expectations



C. Being less represented than others 

D. Achieving full equality
Question 49: Which of the following is NOT mentioned as a challenge women still face according to the passage?

A. Societal expectations



B. Wage gaps

C. Underrepresentation in senior positions

D. Decreased political interest 
Question 50: What can be inferred about the future role of women in society based on the passage?

A. It will regress to traditional roles only.

B. It will continue to evolve towards greater equality. 

C. It will remain unchanged from current conditions.

D. Women will dominate all sectors, excluding men.
_______THE END_______
TEST 3 
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1. A. digest
B. forged
C. neglect
D. biologist
Question 2. A. pioneer 
B.  goalie 
C. childbearing 
D. penalize

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in the position of primary stress in each of the following questions.

Question 3. A. struggle 
B. justice

C. appeal                   D. victim
Question 4. A. advocate
B. reunite
C. dedicate
D. hesitate 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5: The 31st SEA Games, ______ in Vietnam in 2022, left a deep impression on the participants

A. were held               
  B. held                        C. holding                 D. were holding

Question 6: _______ your education is, the greater your opportunities are.

A. Better

B. The best
  C. The better
  D. The best
Question 7: My father won’t allow me to go to the theater ______________.

A. when I finished doing my household chores


B. after I had finished doing my household chores
C. once I will finish doing my household chores


D. until I have finished doing my household chores
Question 8: They were extremely appalled ____________ the damage from the fire.
A. with 

B. about 
C. by
  D. for
Question 9: Nga seldom comes to school late, ____________?

A. didn't she

B. is she
C. does she                 D. doesn’t he

Question 10: Donald Trump has been________President of ________United States for six years.

A. the/ the

B. a/ (
C. the/ (

D. the/ an 

Question 11: Her ______ to medicine was so great that she had little time for anything else. 

A. importance 
B. dedication 
C. emphasis 

D. reputation 

Question 12: It took me a very long time to ___________ the shock of her death.

A. get back 

B. take on 
C. get over 
    D. keep up with

Question 13: I distinctly remember  _____________him. I gave him 2$.

A. pay

B. to pay
C. paying

D. to paying

Question 14: I tried to talk to her, but she was as high as a _______________.

A. kite

B. wall
C. sky

D. house

Question 15: Mike _________ his favorite program on TV when the lights went out. 

A. was watching 
B. is watching 
C. watched
   D. watches

Question 16: The application form ________to the university before May 31st.

A. must send

B. sent
 C. must be sending
    D. must be sent

Question 17: He played trumpet ____________, but switched to the piano when he was in his twenties.

A. initiated

B. initiative
C. initial
  D. initially
Question 18: The computer has had an enormous ________ on the way we work and enjoy life.

A. impression

B. influence
C. change

D. alternation

Question 19: ASEAN is an organization on the Southeast Asian region that aims to _______ economic growth, social progress, and cultural development.

A. include

B. account
C. accelerate
   D. respect

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the following exchanges

Question 20: Mother and son are talking during dinner at their home.  

- Mother: “What a meaningful thing you've done for your less fortunate friends, my son!” 

- Son: “__________________”

A. Thanks for taking care of me, Mom.

B. What a wonderful gift you've made for me.

C. I don’t really care. I must go now.


D. Thank you, Mom. That’s just a bit I can do for them.

Question 21: Suri is talking to her roommate about the Olympic Games.

- Suri: Do you think our country can host the Olympic Games some day in the future?

- Kate: ____________ . We can’t afford such a big event.

A.  You can say that again



B.  Yes, you’re right

C.  I can’t agree with you more


D.  No, I don’t think so
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. 

Question 22: Those who advocate for doctor-assisted suicide say the terminally ill should not have to suffer.

A. support

B. oppose


C. annul


D. convict

Question 23: The foreigner set the cat among the pigeons when he made some sensitive comments about the people’s religion.


A. made a lot of people satisfied


B. made a lot of people annoyed
C. made other people disappointed


D. made a lot of people very angry

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. 

Question 24: Women are considered to be better suited for childbearing and homemaking rather than for involvement in the public life of business or politics.

A. education 
             B. advocate                           C. participation 
D. recognition

Question 25: The new president said she would dedicate herself to protecting the rights of the sick and the homeless.


A. support
              B. devote
                          C. sacrifice
D. struggle

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions 

Question 26: It’s very likely that the company will accept his application. 

A. The company needs accept his application.

B. The company might accept his application. 
C. The company must accept his application.   
D. The company should accept his application. 

 Question 27:  I haven't met my grandparents for five years. 
A. I often met my grandparents five years ago. 
B. I last met my grandparents five years ago. 

C. I have met my grandparents for five years. 
D. I didn't meet my grandparents five years ago. 

Question 28: “I’ll tell you about this tomorrow, Mary.” said Tom.
A. Tom said to Mary that he will tell her about that the next day.

B. Tom told Mary that I would tell you about that the next day.

C. Tom told Mary that he would tell her about that the next day.

D. Tom told Mary that she would tell him about that the next day.

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 29: She has disappeared three days ago, and they are still looking for her now. 

A. has disappeared 
B. and 
C. are still
D. for her

Question 30: Ozone has his origin in a number of sources, a prime on being the automobile engine.                               

A. his 
B. prime 
C. being
D. the

Question 31: Every employee is expected to be competent and industrial because wage rates depend on levels of productivity.

A. employee 
B. competent 
C. industrial 
D. productivity

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions

Question 32: His parents are away on holiday. He really needs their help now.

A. As long as his parents are at home, they will be able to help him.

B. He wishes his parents were at home and could help him now.

C. If his parents are at home, they can help him now.

D. If only his parents had been at home and could have helped him.

Question 33: He finally contracted the disease. He was aware of the importance of preventive measures only then.

  A. But for his awareness of the importance of preventive measures, he could have contracted the disease.

  B. Hardly had he been aware that preventive measures were essential when he contracted the disease.

  C. Not until he was aware of the importance of preventive measures did he contract the disease.

  D. Only after he had contracted the disease was he aware that preventive measures were essential.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 39.

We need to attend to the tree loss because of the following tree benefits. Firstly, trees provide shade for homes, office buildings, parks and roadways, cooling surface temperatures. They also take in and evaporate water, (34) ______ cools the air around them. Secondly, trees absorb carbon and remove pollutants from the atmosphere. Trees also reduce energy costs by $4 billion a year, according to Nowak's study. "The shading of those trees on buildings (35) ______ your air conditioning costs. Take those trees away; now your buildings are heating up, you're running your air conditioning more, and you're burning more fuel from the power plants, so the pollution and emissions go up." (36) ______, trees act as water filters, taking in dirty surface water and absorbing nitrogen and phosphorus into the soil. Last but not least, (37)______ studies have found connections between exposure to nature and better mental and physical health. Some hospitals have added tree views and plantings for patients as a result of these studies. Doctors are even prescribing walks in nature for children and families due to evidence that nature (38)__________ lowers blood pressure and stress hormones. And studies have associated living near green areas with lower death rates.

Question 34. A. which
       B. whose
  C. that
D. what

Question 35. A. reduces
       B. increases
  C. pays
D. values

Question 36. A. However       B. Consequently
  C. Besides
D. Afterwards

Question 37. A. much
       B. every
  C. each
D. many
Question 38. A. love
       B. intimacy
   C. exposure
D. communication
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 43.

    Aimee Fuller was born in England but now lives in the USA. She moved to the east coast of the United States at the age of 12 because she knew she wanted to be a professional snowboarder. It wasn’t possible to train properly in her hometown because it hardly ever snowed. There was a dry ski slope in her town, where she learnt how to ski and snowboard, but there weren’t any mountains with snow to practice the sport.

Aimee quickly found sponsors and a coach when she arrived in the USA, and she is now a successful and well-known snowboarding star. She has done really well in many national competitions and her dream is to win an Olympic gold medal one day.

During her free time, Aimee likes to spend time at home, switch off her phone and laptop and hang out with her friends and family. Aimee spends most of her time practicing on the snow, and trains in the gym four to five times a week. She also goes cycling and running. Aimee says it is very important to keep fit because that helps her stay safe when she is doing snowboarding tricks and jumps. Her advice to people who want to learn how to do jumps, is to start small and only do bigger jumps when they feel ready.

(Adapted from Mindset for IELTS foundation)

Question 39. Which of the following can be the best title of the passage?

A. Preparation for Olympic Games
B. U.S Immigrant Lives 

C. Women’s Snowboarding Qualifications 
D. A Snowboarding Star

Question 40. According to the passage, Aimee enjoys ______ in her spare time.

A. spending time at home

B. using her phone 


C. surfing the Internet

D. hanging out with her coach

Question 41. The word they in paragraph 3 refers to ______.

A. people keeping fit

B. people cycling       


C. people giving advice

D. people learning to jump
Question 42. The word coach in paragraph 2 is CLOSEST in meaning to ______.

A. donor 
B. opponent 
C. referee 
D. trainer 
Question 43. Which of the following is NOT true according to the passage?

A. Aimee thinks being unfit is dangerous for snowboarding. 

B. There was no snow in her hometown.

C. Aimee spent a short time finding a coach in the USA.           


D. Aimee has won an Olympic gold medal.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50. 
The issue of equality for women in British society first attracted national attention in the early 20th century,

 when the suffragettes won for women the right to vote. In the 1960s feminism became the subject of intense debate when the women’s liberation movement encouraged women to reject their traditional supporting role and to demand equal status and equal rights with men in areas such as employment and pay. 

Since then, the gender gap between the sexes has been reduced. The Equal Pay Act of 1970, for instance, made it illegal for women to be paid less than men for doing the same work, and in 1975 the Sex Discrimination Act aimed to prevent either sex having an unfair advantage when applying for jobs. In the same year the Equal Opportunities Commission was set up to help people claim their rights to equal treatment and to publish research and statistics to show where improvements in opportunities for women need to be made. Women now have much better employment opportunities, though they still tend to get less well-paid jobs than men, and very few are appointed to top jobs in industry. 

In the US the movement that is often called the “first wave of feminism” began in the mid1800s. Susan B. Anthony worked for the right to vote, Margaret Sanger wanted to provide women with the means of contraception so that they could decide whether or not to have children, and Elizabeth Blackwell, who had to fight for the chance to become a doctor, wanted women to have greater opportunities to study. Many feminists were interested in other social issues. 

The second wave of feminism began in the 1960s. Women like Betty Friedan and Gloria Steinem became associated with the fight to get equal rights and opportunities for women under the law. An important issue was the Equal Rights Amendment (ERA), which was intended to change the Constitution. Although the ERA was not passed, there was progress in other areas. It became illegal for employers, schools, clubs, etc. to discriminate against women. But women still find it hard to advance beyond a certain point in their careers, the so-called glass ceiling that prevents them from having high-level jobs. Many women also face the problem of the second shift, i.e. the household chores. 

In the 1980s, feminism became less popular in the US and there was less interest in solving the remaining problems, such as the fact that most women still earn much less than men. Although there is still discrimination, the principle that it should not exist is widely accepted. 

Question 44: The suffragettes won for women the right to vote _______________.

A. in the early 20th century


B. in the late 20th century
C. In the 1980s



D. in the 1960s
Question 45: It can be inferred from paragraph 1 that in the 19th century, ____________.

A. British women did not complete their traditional supporting role

B. most women did not wish to have equal status and equal rights

C. suffragettes fought for the equal employment and equal pay

D. British women did not have the right to vote in political elections
Question 46:  The Equal Rights Amendment (ERA) _______________.

A. was not officially approved

B. changed the US Constitution

C. was brought into force in the 1960s 
D. supported employers, schools and clubs

Question 47: The phrase “glass ceiling” in paragraph 4 mostly means ______.

A. an overlooked problem


B. a ceiling made of glass 

C. a transparent frame



D. an imaginary barrier
Question 48: Which of the following is NOT mentioned in the passage?

A. There is now no sex discrimination in Britain and in the US.
B. Many American women still face the problem of household chores.

C. An American woman once had to fight for the chance to become a doctor.

D. British women now have much better employment opportunities.

Question 49: The word "it " in the last paragraph refers to_________________. 

A. feminism

B. fact


C. discrimination

D. principle

Question 50: Which of the following would be the best title for the passage?

A. Opportunities for Women Nowadays 
B. Women and the Right to Vote

C. Feminism in Britain and the US

D. The Suffragettes in British Society

_______THE END_______
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